Day 7 - Optimization (3) after.notebook April 02, 2019

Questions From Homework
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@Find the point on the parabola 2y = x” that is closest to the point (-4, 1)
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You are in a dune buggy in the desert 12km due south of the nearest point A
on a straight east-west road. You wish to get to point B on the road 10km east
of point A. If your dune buggy can average 15km/h traveling over the desert,
and 39km/h traveling on the road, toward what point on the road should you

head to in order to minimize your tra ime to B?
g b g
S

Wk

?

PRI b
_‘\-Q \'\ o C
) e RO
g WS-C
\-tz\ Y < ‘\'\r\l c)\s{nn@_ \L\L\ +x’a _ Ca
=< 5(@"\ R +s P

gl - o Qduw)

@) minimize + |

= \
t-4 R
fz v g+ Y+x? + I0-X o — “Vﬁve\e(mb\)
S 3
£ D 1o ax
\S \ » A \
| X \o l
- A L
t= :%\\Z\\\ D @x Vg
{- Y
e
\S(\'-\‘-\Haa
1< VS
A \5(\‘\"\*5(}
\5(‘*"‘*{)@: HAX (Siuara 251128 suée;

RO e

00RO |

w46 W6
9= x’a
Y- x ‘
| Skee X \ - Dave Yo o oo\
o S tnm AWL Qask

- S g P A

Qf_f‘——/——‘f—__:”
Q) -5 @ S )



Day 7 - Optimization (3) after.notebook April 02, 2019

You have 400 m of fencing to construct a rectangular pen that will be divided into
2 sections of equal size. Find the dimensions that would maximize the area of the

whole pen.
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Find the points on the parabola y = 6 - x” that are closest to the point (0,

3)

d = Jx %Y *(3-33
d = J&-OF +@R-3)’
d= \ Cx (‘?r)??
d=J % a-6+x"
d- I xL5:2+9
5 X = XA-SXB-\-C\

369 = 4x°-ox
§‘<>0= '3%(9#?“?5 y= 6- 6’5,;);
ax=0 3.)?-5:0 =0-% = a1
X:O \ Xa___. 5/6 3 ° P=)
x=11%

N;\“ N C-)
,;:\;'J' ;—_"\!_\_% 9=6-(%)
D) -‘5;(—0 0(0@ ) 5 7)

-\1s3% 1R

Tre ?o'm\'s ale (—ﬁ; ,7/33 G ?73 \76)



Day 7 - Optimization (3) after.notebook April 02, 2019

Homework



Day 7 - Optimization (3) after.notebook April 02, 2019

@ N Kw D rax At
Sl PR
W= -G 4 ; i
E TR e
T\ K= a(e-t)

Ry e
N
[y
= = Yy
S P. 204D v Dol
L .-;_'-g 'Dfaﬁ___‘p |-.F‘ -
ﬂ - +3 glli_j - om.
we @ B ol et g
k} P S
wi= T e
i
17
al®- 1o o
4= G4 1
i= 1% P
- T
§~ Eeer
@ ‘Q‘c“"_._ Yk = GG \to Ka"\ i
Rt G- din? W= ;(_"[qg:;"j
e Ah-a x
A% ¥= Qe—on’
b Ag-2e o
@ i N My m 1o




Day 7 - Optimization (3) after.notebook

o4
B e
@ LA4%n =18 V=% h p W v_s_x
? 2 P
e s s S [th’u—.' LI,‘ o )
= 1R ¥ i &
T ax V= 108X =X 2,%= OB
( - 26
= 10E- 36 31 - X +
a4 V= 0Tx-lx 4 X=16 a0
e _:.‘;ffh_ 4 [KF—QrmI' 3
Max Volume = GG x3 =[|CRem I
@ Yh-2\ f = 2"+ ik Wi Acea = 33624636
=Bl k-3 R +Li-1T§LH -‘_,E'M.ﬂ%-s
ey L& (F 1e32em” |
v 2L b= D 3
S ; @
a0 e s n\f Yy -ﬂ
| W +"£cﬁ] ®°
TO3A = M
“9
n” = 234
=Bl

April 02, 2019

11



Day 7 - Optimization (3) after.notebook

® Yh=9¢
h= 3¢
%

a 3+ 3w = 18O

Sw= 0-24  p.
ws -4 aspg-4°

S = 5003 f= so-ad
L= 25 i a0 -4
Je T (i =
Js B
B Bs2s-co i = Moy Area = 20 19
b= go-3.0 f-@Eo-5)w B
Lo e er S GRS ES
L 0m | - Go-Hw
@ A= 4im-u3)
| o Ty T

k= xa+"-ﬁx‘m
> :
k= x +“{K[‘EE;J

@ :
A %+ 29"

e A 2
A= (s21) +4(581)(
=B,7% +61.5 #
— 10036 e

B's 3. =293
ﬁd
=Ha . 2=
L
= 392
T
i IE
[3{-' 5.%]{“;?
A
Ae koo S S [ o
T e .L,?c.ori

Y s0-4D

April 02, 2019

12



Day 7 - Optimization (3) after.notebook

F= ot o P= Wz o) ez

SUON[os - oD P=oad +3['4.099"‘ = X088 | -
i g 3 L=
W) 1O 150

e P- 3+ oo b C- 28> 96 3/,

P'- 3-%cco L ® '.‘5‘&.‘=‘cij
. -L ) = 4_1\_
RLCIE o !
1? b (s
L o]

April 02, 2019

13



	Page 1: 1
	Page 2: Apr 4-8:18 AM
	Page 3: Apr 2-8:27 AM
	Page 4: Apr 2-8:44 AM
	Page 5: Apr 4-11:01 AM
	Page 6: Mar 27-9:06 AM
	Page 7: 4
	Page 8: 3
	Page 9: 6
	Page 10: Apr 18-10:22 AM
	Page 11: Apr 18-10:24 AM
	Page 12: Apr 18-10:25 AM
	Page 13: Apr 18-10:26 AM

